m@t \\ LIS AS 0
Body Assembly

8022 opt.

8022A opt.
8022R opt.
8022X opt.

8022X opt. 3931

8021
4x5 SCREW PIN 3x8 FCS

REV 181002-R11

See Parts List for a complete Specifications on this page are subject to change without notice. Every attempt has been made to ensure
listing of optional accessories. the accuracy of this drawing; however, Traxxas cannot be held responsible for typographical or other errors.


https://www.rc-hp.de/Traxxas-Karosserie-Tactical-lackiert-8211X
https://www.rc-hp.de/Traxxas-Karosserie-Tactical-klar-8211
https://www.rc-hp.de/Traxxas-Schraube-2x8mm-Zylinderkopf-Innensechskant-6-2564
https://www.rc-hp.de/Traxxas-Schraube-2x8mm-Zylinderkopf-Innensechskant-6-2564
https://www.rc-hp.de/Traxxas-Schraube-2x8mm-Zylinderkopf-Innensechskant-6-2564
https://www.rc-hp.de/Traxxas-Schraube-2x8mm-Zylinderkopf-Innensechskant-6-2564
https://www.rc-hp.de/Traxxas-Fender-flares-v-h-je-2-8017
https://www.rc-hp.de/Traxxas-Fender-flares-v-h-je-2-8017
https://www.rc-hp.de/Traxxas-Fender-flares-v-h-je-2-8017
https://www.rc-hp.de/Traxxas-Fender-flares-v-h-je-2-8017
https://www.rc-hp.de/Traxxas-Fender-innen-v-h-je-Rock-light-covers-8-8018
https://www.rc-hp.de/Traxxas-Fender-innen-v-h-je-Rock-light-covers-8-8018
https://www.rc-hp.de/Traxxas-Fender-innen-v-h-je-Rock-light-covers-8-8018
https://www.rc-hp.de/Traxxas-Fender-innen-v-h-je-Rock-light-covers-8-8018
https://www.rc-hp.de/Traxxas-Fender-innen-v-h-je-Rock-light-covers-8-8018
https://www.rc-hp.de/Traxxas-Fender-innen-v-h-je-Rock-light-covers-8-8018
https://www.rc-hp.de/Traxxas-Fender-innen-v-h-je-Rock-light-covers-8-8018
https://www.rc-hp.de/Traxxas-Fender-innen-v-h-je-Rock-light-covers-8-8018
https://www.rc-hp.de/Traxxas-Fender-innen-v-h-je-Rock-light-covers-8-8018
https://www.rc-hp.de/Traxxas-Fender-innen-v-h-je-Rock-light-covers-8-8018
https://www.rc-hp.de/Traxxas-Fender-innen-v-h-je-Rock-light-covers-8-8018
https://www.rc-hp.de/Traxxas-Fender-innen-v-h-je-Rock-light-covers-8-8018
https://www.rc-hp.de/Traxxas-Fender-brace-innen-v-h-8019
https://www.rc-hp.de/Traxxas-Fender-brace-innen-v-h-8019
https://www.rc-hp.de/navi.php?qs=trx2577
https://www.rc-hp.de/navi.php?qs=trx2577
https://www.rc-hp.de/navi.php?qs=trx2577
https://www.rc-hp.de/navi.php?qs=trx2577
https://www.rc-hp.de/Traxxas-Motordeckel-Schrauben-25x6mm-3215
https://www.rc-hp.de/Traxxas-Motordeckel-Schrauben-25x6mm-3215
https://www.rc-hp.de/navi.php?qs=trx8022
https://www.rc-hp.de/navi.php?qs=trx8022
https://www.rc-hp.de/Traxxas-Reserverad-Halterung-8021
https://www.rc-hp.de/Traxxas-Reserverad-Halterung-8021
https://www.rc-hp.de/Traxxas-Reserverad-Halterung-8021
https://www.rc-hp.de/Traxxas-Reserverad-Halterung-8021
https://www.rc-hp.de/Traxxas-Schrauben-3x8mm-Senkkopf-3931
https://www.rc-hp.de/Traxxas-Schraube-25x12-Rundkopf-3236
https://www.rc-hp.de/Traxxas-Schraube-25x12-Rundkopf-3236
https://www.rc-hp.de/Traxxas-Jack-1-2x8-BCS-1-schwarz-8023T
https://www.rc-hp.de/navi.php?qs=trx8023
https://www.rc-hp.de/Traxxas-Nylon-Muttern-4mm-mit-Flansch-3647
https://www.rc-hp.de/Traxxas-Reifen-auf-Felge-19-2-Canyon-Trail-8273



